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1.Let 0 < x < 1. Then the corregt
inequality s

Mx<Jfx <2 2) JX cx<xa

@Ba<x< fx 4) Jx <P ecx
2. Three bells ring at intervals of
36 seconds, 40 seconds and
48 seconds respectively, They
start ringing together at a par-
ticular time. They will ring to-
gether after every
(1) 8 minutes (2) 12 minutes
(3] 18 minutes (4) 24 minutes
3.1f the sum of the digits of a
three digit number is subtract-
ed from that number, then it
will always be divisible by
(1) 3 only (2) 9 only
(3) Both 3 and 9
(4)Allof 3, 6 and 9
4. Which of the following is cor-

17 43
(3) 0 (4) 0
7. Find the cube root of (-13824).
or
Find the value of ¥-13824 .
(1) 38 (2)-38
13) 24 (4) =24

8. The sum of three positive num-
bersis 18 and their product 1s
162. If the sum of two num-
bers 1s equal to the third num-
ber, then the sum of squares
of the numbers is
(1) 120 (2) 128
(3) 132 (4) 138

8. The sum of three consecutive
even numbers is 28 more than
the average of these three
numbers. Then the smallest of
these three numbers is
18 (2)12
(3) 14 (4) 186

13. John does i plece of work in

14,

2

1
3 hours, Joe does of the re-

maining work in 1 hour and
George finishes remaining
work In 5 hours. How long
would it have taken the three
working together to do the
work 7

1 1

(1) 27 hours  (2) 3? hours
8 8

(3) Eﬁhnurs (4] E.l 1 hours

2
A does 5 of a work in 9 days.

Then B joined him and they to-
gether completed the remain-
ing work in 6 days. B alone can
finish the whole work in

10. In a division sum, the divisor 12 2
rect ? ‘d is 10 times the quotient ‘q (1) EE days (2) Eﬁ days
2 3 1 and 5 times the remainder ‘r,
Mg wE o If r = 46, the dividend will be (3)10days  (4) 18 days
(1) 5042 (2) 5328 15. The daily wages of A and B re-
B2 ol (3) 5336 (4) 4276 spectively are Rs.3.50 and
o 8518 11. A man can do a piece of work Rs. 2.50. When A finishes a
11 3 2 in 30 hours. If he works with certain work, he gets a total
B = <= <= his son then the same plece of wage of Rs. 83. When B does
15 "5 "3 work Is finished in 20 hours. the same work, he gets a total
(@) = | NONE Il'ttt-.; son wkui;ks alone he can wage of Rs.75. If both of them
et do the wor do it together wha
S A (1) 60 hours (2] 50 hours of met:ugqu o t1s the cost
B. The greater of the two numbers (3) 25 hours (4] 10 hours (1) Rs. 67.50 (2) Rs
Whose product is 900 and sum 12. A water tap fills a tub in ‘p' (3) Rs EI}TE{J - 27.50
xceeds their difference by 30 hours and a sink at the bot- | Ry (4) Rs. 70,50
- tom empties it in ‘g hours. If p - dﬂ?“ does double the work
(1) 60 (2) 75 < g and both tap and sink are - ﬁhrahhuy In the same time.,
(3) 20 {4) 100 open, the tank is filled in ‘7 mg‘:—‘-‘“ er of days that 3 men
8. The smallest fraction, which hours; then a th:ﬁ ';"“ take to finigh
should be added to the sum of 1 1 A l 10 e i :d can be done by
Lisey Y 1 =53 )4 ays 1a
251 37, 4— and 5— to make ) (2) 18
3" 4 5 P S . %
the result a whole number, is (2) P 4 (3) -,rT.l. (4) B%
13 1 @ r=p+q 17. The marked
"g0 @3 Wr=p-q is 30% h gli;:;a?h:rg:ﬁ
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price. If a trader sells the arti- In a battle 6 officers and 22 sol- {1)20 (2)23
diers were killed and the ratio (3) 24 (4) 28

cles allowing 10% discount Lo
customer, then the gain per-
cent will be
(117 (2) 20
(3) 19 {4) 15
18. A merchant marked the price
of an article by increasing its
production cost by 40%. Now
he allows 20% discount and
gets a profit of Rs. 48 after sell-
ing it. The production cost is
(1) Rs. 320 (2) Rs. 360
(3) Rs. 400 {4) Rs. 440
19. A watch dealer pays 10% cus-
toms duty on a watch which
costs Rs. 500 abroad. He de-
sires to make a profit of 20%
after giving a discount of 25%

to the buyer. The marked price
should be

(1) Rs. 850 - (2) Rs. BOD

(3) Rs. 880 (4) Rs. 660

20. A shopkeeper allows 20% dis-
count on his advertised price
and to make a profit of 25%
on his outlay, What is the ad-
vertised price (in Rs.) on which
he gains Rs. 6000 ?

(1) 36000 (2} 37500
(3) 39000 {4) 42500
21. Rs. 2420 were divided among
" A,BandCsothatA:B=5:4
and B: C=9: 10 then C gets
(1) Rs. 68O (2) Rs. BOO
(3) Rs. 900 (4] Rs. 950

22. 49 kg of blended tea contains
Assam and Darjeeling tea in
the ratio 5 : 2. Then the quan-
tity of Darjeeling tea to be add-
ed to the mixture to make the
ratio of Assam to Darjeeling tea

2:11s
(1) 4.5 kg (2) 3.5 kg
(4) 6 kg

{3) 5 kg
23. Among 132 examinees of a
certain school, the ratio of suc-
cessful to unsuccessful stu-
dents i1s 9 : 2. Had 4 more stu-
dents passed, then the ratio of
successful to unsuccessful
students would have been

(1)14:3 (2)14:5
(3)28:3 (4)28:5
24. In a regiment the ratio between

the number of officers to sol-
diers was 3 : 31 before battle.

became 1 : 13, the number of
ofMcers In the regiment before

battle was
(1) 31 (2) 38
(3) 21 (4) 28

28. Three containers have thelr
volumes in the ratio 3 : 4 : 5.
They are [ull of mixtures of
milk and water, The mixtures
contain milk and water in the
ratioof (4 :1), (3 : 1) and (5: 2)
respectively. The contents of
all these three contalners are
poured into a fourth contain-
er. The ratio of milk and water
in the fourth container is
1y4:1 (2] 151 : 48
(3) 157 : 53 4)5:2

28. In what proportion must a gro-
cer mix sugar at Rs.12 a kg
and Rs.7 a kg so as to make a
mixture worth Rs. 8 a kg.?
(1)7:12 2)1:4
(3)2:3 4)12:7

27. Fifteen movie theatres average
B00 customers per theatre per
day. If six of the theatres close
down but the tota] theatre at-
tendance stays the same, then
the average daily attendance
per theatre among the remain-
ing theatres is
(1) 200 (2) 1000
(3) 1100 (4) 1200

28. The average weight of A, B and
C is 45 kg. If the average
weight of A and B be 40 kg and
that of B and C be 43 kg, then
the weight of B is :

(1) 31 kg. (2) 32 kg.
(3)29.5 kg,  (4) 35 kg.

28, The batting average for 40 in-
nings of a cricket player is 50
runs. His highest score ex-
ceeds his lowest score by 172
runs. If these two innings are
excluded, the average of the re-
maining 38 innings is 48 runs.
The highest score of the play-
eris
(1) 165 (2) 170
(3) 172 (4) 174

30. The average of 7 consecutive
numbers is 20, The largest of
these numbers is

31. Mukesh has twice ag Mgy
money as Soham. Soham, hay
50% more money than g,

If the average money ""tli
them is Rs.110, then Mllhuh

has
(1) Rs. 155 12) Ra, 160
(3)Rs. 180  (4) Rs. 175

32. The average dally income of 7
men, 11 women ﬂm‘ﬂbay;l,
Rs. 257.50. If the average gy
ly income of the men 1s Ry 1
more than that of women anq
the average daily income of .
women 18 Rs.10 more thay
that of boys, the average daily
income of a man is
(1) Rs. 277.5  (2) Rs. 250
(3) Rs. 265  (4) Rs, 257

33. If the profit on selling an ary.
cle for Rs. 425 18 the same a3
the loss on selling it for Rs,
355, then the cost price of the
article is
(1) Rs, 410 (2) Rs. 380
(3) Rs. 400 {4) Rs. 390

34. A and B jointly made a profl
of Rs.1650 and they decided

1
to share it such that 3 of A's

2
profit is equal to — of B's prof

5
it. Then profit of B is
(1) Rs. 700  (2)Rs. 750
{3) Rs. 850  (4) Rs. 800

35, 4% of the selling price of &
article is equal to 5% of its cos!
price. Again 20% of the selliné
price {s Rs.120 more tlmn??:
of its cost price. The ratio
cost price and selling price !
(1)2:3 (2) g = i
(314:5 4)5:

36. Duc to 25% fall in the ra*® ":
eges, nncmnhuyﬂdﬂﬂ“ﬁ‘
more than before by inves
Rs.162. Then the origind!

per dozen of the eggs I8
()Rs. 22  [(2IRs. g;
(3) Rs. 27 (4) Rs.

wd
37. Last year M;'; A bﬁ;’:'ghl,nﬁ
paintings. This Ye& " “on
them for Rs. ED-Dﬁ;;myﬂ

one, he madea 25
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?‘:;;h';l:’:hhi; TI‘:; ;lr.;?lta 2j5% 1 40. A man Invested a suim ul"mur;;
) orlos 1 s &
Is ? (1}3 3 hours (2] 5 hours ey at cumpﬂug‘ I;;ﬂﬂrgﬂm 2

(1) He lost more than Rs. 2000

(2) He lost less than Rs. 2000

(3) He earned more than
2000 al

(4) He earned less than Rs,
2000
38. A shopkeeper sells rice at 1004
profit and uses weight 309
less than the actual measure,
His gain per cent is

2 1
W573%  (2)57=%
3 ETE% S
(3) 5 (4) 5?7?*%
39. What per cent of a day is 30
minutes?
(1) 2.83 (2) 2.083
(3) 2.09 (4) 2.075

40. A businessman's earning in-
creases by 25% in one year but
decreases by 4% in the next
year. Going by this pattern, af-
ter 5 years, his total earnings
would be Rs.72000. What is
his present earning?

(1) Rs. 10000 (2) Rs. 80000
(3) Rs. 40000 (4) Rs. 54000
41.In an examination 73% of the
candidates passed in quant-
tative aptitude test, 70%
passed in General awareness
and 64% passed in both. If
6300 failed in both subjects
the total number of examinees

Was
(1) 80000 (2) 50000
(3) 30000 [4) 25000

42. A man spends 75% of his in-
come. His income increases by
20% and his expenditure also
Increases by 10%. Find the
Percentage increase in his sav-

2 1
(3) 35 hours (4) TE hours

44.A t:aui- c-aln finish a certain jour-
NEy in 10 hours at the speed
of 42 kmph. In order to cover
the same distance in 7 hours,
the speed of the car (km/h)
must be increased by :

(112 {2) 15
(3) 18 (4) 24

45. A man travels 450 km to his
home partly by train and part-
ly by car, He takes 8 hours 40
minutes if he travels 240 km
by train and rest by car. He
takes 20 minutes more i he
travels 180 km by train and
the rest by car. The speed of
the car in km/hr is
(1) 45 (2) 50
(3) 60 (4) 48

486. A train "B’ speeding with 100
lamph crosses another train C,
running in the same direction,
in 2 minutes. If the length of
the train B and C be 150 me-
tre and 250 metre respective-
ly, what i1s the speed of the
train C (in kmph)?

(1) 75 (2) 88
(3) 95 (4) 110

47. The compound interest on Rs.
30,000 at 7% per annum for n
years is Rs. 4347. The value
of nis
(1)3 22
(3) 4 (4)5

48, If A borrowed Rs. P at x% and
B borrowed Rs. Q (= P) at 126
per annum at simple interest
at the same time, then the
amount of their debts will be
equal after

amounted to
years and (o Rs. 2662 in 3

ears. Find the sum.
:{1} Rs. 1000 (2) Rs. 2000
(3) Rs. 5082 (4) Rs. 3000
50. If a sum of money becomes
Rs. 4000 In 2 years and
Rs. 5500 in 4 years 6 months
at the same ratc of simple in-
terest per annum, then the
rate of simple interest 15

3 204
[1}21;}—% (2) 213

1 o
(3) 21 ?% (4) 21 = %

B51. A hollow cylindrical tube 20
cm. long is made of iron and
its external and internal diam-
eters are 8 cm. and 6 cm. re-
spectively. The volume (In cu-
bic cm.) of iron used in mak-

22
ing the tube is [Tﬂkc = ?)
(1) 1760 (2] 440
(3) 220 (4] BBO

52.If the areas of three adjacent
faces of a rectangular box
which meet in a corner are 12
cm?, 15 em?® and 20 em? re-
spectively, then the volume of
the box 1s
(1) 3600 em®  (2) 300 em?
(3) 60 em? (4) 180 em?

53. The ratio between the length
and the breadth of a rectan-
gular park is 3 : 2. If a man
cycling along the boundary of
the park at the speed of 12
:gné.fhﬁur iumx:hlntes one round

minutes,

iiipasi b en the area of
(1) 153850 sq.metre
(2) 135600 sq.metre
(3) 153600 sq.metre
(4) 156300 Sq.metre

54. If the radius of a

right eircuyl
cylinder open at both the t:daar
is decreased 25% and ihr.l'

helght of the ¢
ylinder is jn.
creased by 2504 Then til?e

curved surfaee
inder thus [umamrta of the cyl-

(1) remains una—ltﬁ‘l‘tﬂ

ings. Q-
(1) 2594 (2) 50% (1) 100 [Px—gy] years
(3) 1584 (4) 10%
%3.0n a river, @ is the mid-point (Px-Qu
Detween two points P and Ron (2) 100 o-p J¥
the same bank of the river. A x
t can go from P to Q and (Px-Qu
back in 12 hours, and from P (3) 100 —ia__g"] years
1o R in 16 hours 40 minutes. :
How long would it take to go F-0
fromRtop? (4) 100 \qu{;ly]ym
S~—— STNE-763
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[Z) is tnereased by 25%
(3} 1s tncreased by 6.25%
{4} 18 decTeased by B.25%

B8. A cylindrical pencil of dlame-
ter 1.2 cm has one of s ends
sharpened into a conical
shape of hejght 1.4 em. The
volume of the materin]l re-
moved {5
(1) 1056 eo (2] 4.224 om?
() 10.56 em® (4] 42.24 em?

BB. A recltangular park 80 metre
long and 40 metre wide has
wo concrete crossroads run-
ning in the middle of the park

and rest of the park has been
used as a lawn. If the area of

the lawn is 2109 metres then
the width of the road 15
(1] 3 metrs (2] 5 meire
(3] 6 metre (4] 2 metre
B7. Four circles of equal radil are
described about the four cor-
ners of & square so that each
touches two of the other cir.
cles. If each side of the Aquang
15 140 cm then ares of the
space enclosed between the

circumference of the cirele |5

2
[Tah::— ?]

(1) 4200 cme (2) 2100 cm2
(3} 7000 em® (4] 2800 cm?

B8. The amount of congrete re-
quired to build a concrete cy-
lindrical pillar whose base has
4 perimeter 8.8 metre and
curved surface area 17.4
sguare metre, |5

(roes-2

(1} 8.3085 ma [2) 8.725 m
B 105 m  (4) 12,32 @
88. A hemispherical bowl of inter-
nal radius g CIm, contaims p_[pq.
uld. This liquid 45 to be filled
nto small cylindrica) bottles of
diameter 3 cm and height 4
em. Then the number of bot-

tles necesg ba
g Ay to empty the
{1) 18 () 45
(327 (4) 54

80. Arectangular water tane Is 80
MELTE X 40 metre, Water fows
e 1t through a pipe of 49

Bq.cm st the opening at a speed
of 10 km/hr. The water level

will rise in the tank in half an
hour by

3 4
(1] 5 em. mam-

5 5
lﬁlar_'m. HIEUT'-

81. A aquare and a regular hexa-
gon are drawn such that all
the vertices of the square and
the hexagon are on a circle of
radius r em. The ratio of area

of the square and the hexagon
13

)3:4 214:3/3
BJa:da @i 5

62. A solid cylinder has the Lotal
surface area 231 square em,

2
If its curved surface area is —

3
of the total surface area, then
the volume of the cylinder 1s
(1) 154 cu. om,

(2} 508 cu. cm.
[3) 269.5 cu. em
(4] 370 ew. em

83.The lateral surface ares of
frustum of a right elrcular

[

af

s,

1
[:-'-] I '1';1
1 1
l:ll'_,l.__i'l {4!;‘&
67.lila+b+c=0then lh:"ﬁ.ﬁm

88. The simplified value

=y *

1
b w2

1 1
of la+B)b+e) + [b+|_-].{q:¢u:|

1

* (c+a)fa+b) i

1o 2) 1

3a 4)2
BB. M2+ 1P +2x4+ 1 =0

value af 2 + ™ s

(1) =1 2y

(31 )2

» Lhen (he

1|'E+I -.Eul
BR. UM x = 1,__-:'_—1 and y = ]E'+-_|'

2 by
Value o -xty ]

3 4
cone, if the area of its base is 3 23
16z em® and the diameter of
dreular upper surface s 4 om 3 5
and slant height 18 6 om, wi)) 35 W3
a2
(1) 30m emt A8g 12
CE T S N S
84. The diameter of a sphere js
iwice the dlﬂﬁb:ttrﬂﬂhu-ﬂi:r r] a8t
them.mnmfmmufm: b +;H cquaks
first sphere is equa) Lo the wol-
urme of the second sphere, The t1e0 12) 100
cragnitude of the radius of the (3110 (4] 120
t TLI X+ 2x 4 god 5 byt D82
(1) 12 (2) 24 periect square, where a andb
(3] 16 (4) 48 are positive real numbers.
85. A right circular inder hay- then the values of o and bar
Ing diameter 91 tm and height (Mla=5 b=§
Eﬂmmluﬂuﬂ:uﬂ'mmme (2)a=86beT
lce cream i to be filled im Bla=7 b=g
mﬁﬂhﬂlﬂﬁtlimmdm— i,
ameler 7 em having a hemy. @a=7 b=8 P
Spherical shape on the top, | 72U+ B s @ =18, 245+
oumber of such cones g, =20 and ac+ by + 2=
hﬂmﬁ“ﬁh&ﬂtﬂmlu a+btt
E;;Eé (2) 44 then the value of ——
6

[4) 24 i
N " B '?E’_
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[Il":2 {2}-5— 80. A and B are the centres of two | 86. The Vﬂucfitc};:gﬁ?]ﬂ'm

5 3 circles with radii 11 cm and 6 (1 + sec 22 887 1s

4 5 Cm respectively. A common scc 237 % 180 (2) 1

335 @z .ttlnr.;sﬂﬂ touches these circles (1)0 (4) 2
73. The value of x which satisfies ind Q respectively. If AB (3)-1 = sin0 cos®

AP

Bw,

W

2
l‘.ht tqt-l-ﬂ“l}ﬂ £~|.—‘::l_'I','.2_“"_=_

bse ¥
z 2 2
x+b*® +2a x+¢? 492
c+a

a+b
is
(1)@ + B + &)
2)-(a*+ P + &
(3)(a® + 2K + &)
[4) - (a® + B* + 209

74.0a =117+ PFPanda=3 +b,
then the value of (a + b) Is :
(17 (2) = 49
(=13 4)0

1
75. 11 [{HE] == 2, then the val-

ue of a'™® + q o0 g
(nmz (2)0
1

(31 (4) 1

768. AABC is similar to ADEF. If the
area of AABC is 9 sq.em. and
the area of ADEF s 16 sq.cm.
and BC = 2.1 cm. then the
length of EF will be
(1) 5.6 cm. (2) 2.8 e
(3)3.7 cm. (4) 1.4 em.

77. A chord of a circle is equal to
It radius. The angle subtend-
ed by this chord at a point on
the circumference is
(1) BO® (2) 60"

13) 30° {4) s0*

78. Let two chords AB and AC of
the larger circle touch the
smaller circle having same
centreat Xand Y. Then XY = 7

1
(1 BC (2) EBC

1 1
(3) 3EC {4]';50

78.Let G be the centrotd of the
tquilateral triangle ABC of pe-
fmeter 24 em. Then the length

= 13 cm., then the length of
PQ is

(1) 13 em. (2) 17 cm.

(3) 8.5 cm. (4) 12 cm.

81. ABC is an isosceles triangle
inscribed in a circle. If AB =
AC=12./5cmand BC =24 cm
then the radtus of circle is
(1)10em.  (2) 15 cm.

(3) 12 cm. (4) 14 em.

82. ABC i3 an isosceles triangle
where AB = AC which Is cir-
cumscribed about a circle. If
P 15 the point where the circle
touches the side BC, then
which of the following is true?
(1BP=PC (2) BP > PC

1
(4)BP = EPC

83.1II D and E are the mid-points
of AB and AC respectively of
AABC, then the ratio of the
areas of A ADE and [J BCED
is
(1)1:2 2)1:4
(32:3 4)1:3

84.0 s the drcumcentre of the
isosceles AABC. Given that AB
= AC = 17 cm. and BC =6 em.
The radius of the circle is
(1) 3.015 cm. (2) 3.205 cm.
(3) 3.025 e, (4) 3.125 em.

B85. B, is a polnt on the side AC of
AABC and B B s joined. A line
is drawn through A parallel to
B,B meeting BC at A, and an-
other line is drawn through C
parallel to B, B meeting AB pro-
duced at C,. Then

1 1 1
[” Ccl = M] - BBI

1 1 1
(2 cc, * AA, = BB,

(3) BF < PC

ol AG 1s - e 2
3 (3) HB: e MI. - CC]
M2J/3em (2) 5 em 1 1 2
(4) = =
@ g/Fem (414 Fem M, o B
m— STNE-765

87. If x sin*) + y cos™®

B2. From the to

= 0, then
and x sing - y cosd = O
the value of (< + i) equals
1
(11 @3

3
@5 (4) 2

88.If secd + tand = m (>1). then

the value of sin® is

(0° < B < 207

2 2-1

1-m i
(1) 1+ m2 (2) m= +1
g 2
m2+1 1+m

&

B —— s

80. If (a® - b*) sinb + 2ab cosh = a?

+ B, then tanf = 7

2ab aﬂ- - b2
(1) = (2) 2ab

ab a?-p?
B W7

B0. A person from the top of a hill

observes a vehicle moving to-
wards him at a uniform speed.
It takes 10 minutes for the
angle of depression to change
from 45° to 60°, After this the
time required by the vehicle to
reach the bottom of the hill is
(1) 12 minutes 20 seconds

(2) 13 minutes

(3) 13 minutes 40 seconds

{4) 14 minutes 24 seconds

81. M 2y cosb = xsin0 and 2x sech

= Y cosecl = 3, then the valyu
of & + 417 is ¢
(11

(2) 2
(3)3

(4) 4

P of a cliff 100 me-
tre high, the angles of depres-

slon of the top ang bott
om
atower are 45° and goo° I'Eﬂpt:f

lt:.rc]y. The height of the tower

100
175" (3-¥3) metre

100
@ =5 (¥8-1) metre
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B
100 (1) Rs. BO25 (2) Ra. B250 —_NE
(8) 5 - (2V3 - 1) metre (3)Rs. 8520  (4) Rs. 8052 EXPLANATIONS =
87. What per cent of the total in- 1. (3) Given,
(4) % {‘E"‘E.] ihicke come does the family save ? OD<x<1
(1) 15% (2) 50% = x0<xx<lx
93. A vertical tower stands on a (3) 20% (4) 25% = 0<x¥<x
horizontal plane and is sur- | gg What is the ratio of expenses Again, x< 1
mounted by a vertical flag stafl on food and miscellaneous ? = Jx <1
of height h. At a point on the (1)3:4 2)2:3
plane, the angle of elevation of (3)3 :2 (4)2 5 s Bexefx

the battom of the flag staff is

99. What is the average of expens-

2. (2) Required answer = L} o
36, 40 and 4B seconds
= 720 seconds

_[123} s
=|"gp ) Minutes =12 minuteq
Nlustration : 2 | 36, 40, 48
218, 20, 24
2910, 12
3| 9.56
3, 52
» LCM=2x2x2x2x3x3x5
= 720

3. (3) Let the 3-digit number be
100x + 10y + =
Sum of the digits = x+ y +z
According to the gquestion,
Difference
=100x+ 10y +z=(x+y+3
= 99x + Oy
=9 (1lx+ y)
Clearly, it is a multiple of 3 and
8.

4. (2) On making denominators

B. (1) Let the numbers pe x ¥

y where x> Y.
According to the guestio™
e+ 4 - lx-y=
= X+ y-xt y=30

=3 2y= 30

a and that of the top of the flag
stafl is f. Then the height of es on clothing and rent?
the tower is (1) Rs. 1443.75
(1) h tana (2) Rs. 1344.57
htana (3) Rs. 1574.34
) o= o (4) Rs. 1734.45
100. The ratio of average of expens-
__htana es on food. clothing and mis-
13) tana- tanfi cellaneous items to the aver-
{4) None of these Hgﬂtﬂf:xpmsea on savings and
84. A man on the top of a tower, e
standing on the sea shore, o e (2)1:3
finds that a boat coming to- (32:1 (4)1:1
wards him takes 10 minutes
for the angle of depression to ANSWERS E
change from 30° to 60°. How
soon the boat reach the sea- 1.9 2.2 | 3.09) 4. (2}
shore ? 5.(1)| 6.(4) | 7.4 8. (2)
(1) 5 minutes (2) 7 minutes 9.(2)| 10.(3 | 11.(1) | 12.(2)
{3) 10 minutes (4) 15 minutes 13, (4) | 14.14) | 18.(1) | 18. (2
HE. The fxpfﬂssllﬂn of 17. {l} 18. ‘3] 18. [3] 20. {2}
cotd + cosec -1 is eqiaal to 21. (2) | 22.(2) | 25.(4) | 24.(3)
cot@ + cosec B+1 25. (31 | 26.(2) | 27.(2) | 28.(1)
1+ cosi @ 1-cosB 29. (4] | 30.(2) | 31.(3) | 32.(3)
(U —Zme ) en@ 33. (4 | 34.(2) | 35.(3) | 36.(3)
cotd +1 cotd-1 a7.(1) | 38.(2) | 39.(2) | 40.(3)
B) oscco ¥ oosecd a1 (3) | 42. (2) | 48. (@) | 44.(3
Directions (98-100) : The fol- 46. (1) | 46. (2) | 47.(2) | 48.(1)
lowing pie—chartt:‘iht}:ﬁﬂﬂ];u month- 40, (2) | so. (1) | B1.12) | B2.(3)
ly expenditure ol a on vari- :
ous {tems. If the family spends Rs. 53. (3] | 84.(4) | 88. (1} | B6. (1)
825 on clothing, answer the ques- | | 57: (1) ] 68.(4) | 89.[4) | 60. (4]
tions. B61.(2) | 82, (3) | 83.(3) | 64.(2)
65.(1) | 88. [(2) | 87.(1)| &B.(1)
69.(2) | 70.(3) | 7T1.(3) ] 72.(3)
73.(2) | 74.(1) | 75.(1) | 76.(2)
T7.(3) | 78.(2) | 7O.(2) | BO0.[4)
B1.(2) | B82.(1) | B3.(4) | 84.[%
85.(2) | BB.(4) | BT. (11| 8B8.(Z)
80.(2) | 80. (3) | B81.(4) | 92. (1)
93. (2) | 94. (1) | 88.(*) | 98, [2)
98. What is the total monthly in-
o ot o el P 97. (1] | 88. (3) | 89. (1) | 100. (4)
STNE-7686
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§OIVED PAPER-47
— %l mm‘?

a0
=— =15 " Xyzm 162 12, (21 P<q
= :III = ke 162 mnmlnﬂﬂﬁmdalnk
s XU together, J
g - w=-1%2- =18 .. (W pust of the tub filled tn 1 hoUT
S0 2., 1
=== =80 at bl P T L | o
g T lHF 4% 18 o P a
1 1 1 =81-T1=9 1 1 l
L[4]EE*+EE+4-E+53 GoX=pye=3 Clear F_q='
- .l:'ily'i-.l'-ul:'g-}ﬂ ih uestion.
5) 1. ¥ F 9 = 2x=12=x=§ 13. (4) According to the g
a2 #3234 4% +[—+—+—+-] G X+ Y+E=18 1
o el =6+y+8=18 John does & work in 3 hours.
=14+ {ammﬁzlmm] : fﬂfﬂﬁ. = Time taken by John in do-
= (612 + (37 + (912 |ngwh1:r!=1.u~mk==ﬁhﬂu”
T 17 = 36 + 9 + 81 = 126 ”
= 14+ = = 14 + lm 8. (2] Let three consecutive even Joe does E worle in 1 how
numbers be x, x+ 2 and x + 4. y Joe in doing
17 & Time taken by
= IEE mmms i the q‘r.l::l'..‘lm‘t, whole wark = B hours
u+x+ﬂ+:+4}_w f o s
s Reguired :.l.:‘.‘naﬁ.w-uer-u1-E 3 Remalning work = 2" B
5] =28
4-1 3
2 3x Pagsr. =N
=mm”=§ w [3x+ 6) - ;B:EB B B
n{:!_:lpﬁ]_[_t+2]=23 & Time taken by GooTge
= Ax+6-x-2 =28 Bx5 40
'?.44}5_133:24 = 2x+4 =28 ="3—n—§"hnun
2] 6812 it kot Work done by all three In 1
2 | 3456 . R I Y
- " = X= = 13 S R - O
2| 1728 2 l:|-|:||l.l'r=lE-|-E-|-II:":II
5| 864 10, {3) According (o the question,
— Divisor [d) = 5r = 5 x 46 = 230 _2ﬂ+15+'& 44
2; 432 H.gﬂ.m.ﬂlﬁﬁﬂrlﬂelﬂ'xgun- = 120 =]3‘|:|
2| 216 tient (g] -
2| 108 = 230=qx 10 rl S
230 )
2 b4 B
A8 1 + Dividend = Divisor x Quio- ” mkﬁm:'ﬁ
Hy N tient + Remainder a
a =290 x 23 4 48 s ?— hours
= 5200 + 46 = 5338 11
1 11. (1] Let time taken by son be x
;18824 =23 x 23 2% x 3° ;_ﬂ!um 14. (4) Remaining work = 1 — =
- §-13824 . Father's and son's 1 day's 5 5
1 1, _4
I ﬁr{-lf‘z“xzﬂ 2% % 37 work = e 5 parts
=s-)2x2x2x3=—24 A ; I =
B. (2) Let three positive integers g e + 1A+ B) together do = th part
be x, i and z. a0 x 20 of . il
According to the qu:al:ﬁlm. N 2 : work in 6 days.
X+y+z=18 (0 = % "20° 30 “ Time taken by A and B in
oSl B - N ol oA ot m
From equation (i), 80 60 = 10 days
EZ+z=1B=s2z=18=2=9 5 x =60 hours

%ﬂﬁl STNE-T67 Im%
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18,

18.

17.

i8.

hdmg-u]paa-ldwmtmn

days.
A Timse feken by A in doing

x5 -Ed
whnltw'nrltn—'": 7 BYSE
1 2

k] H‘E‘daﬂwﬂ!k-ﬁ—ﬁ
-4 5 1

=790 "90 18

s Required Ume = 18 days

(1) Thme taken by A = 5=
= 18 days
T

Time taken by B = 25
= 30 days

A + B's 1 day's work

45
*. Regquired time = Y diys
-~ Tolal wages
L]
=Rs. = x [3.50 + 2.50)

= Ra. I:E *EJ = RBs. 7.5

4
(2) According to the question,
1 man = 2 boys

. 3 men + 4 bova

= [3 + 2) men = 5 men

A M,D; =MD,

= HxD=10xE

10x8

=3 Dl = T

(1) Let the C.P. of article be Ra.

1040,

& s marked price = Rs. 130

Its 5.P. = 30% of 1230,
130 x 90

" =100 = Rs. 117

< Profi per cent = 1 7%

(3] Let the production cost of

article be Rs, =

Effective percentage

= X
= {x+g-+ IWJ%

= 16 days

18,

21.

40 20
100 }%
= [20 - 8% = 129
According to the question,
F2% of x = 48
12x

100 =48

={-iﬂ—ﬂﬂ-

L]

_ 4Bx100

B

(3 Let the marked price of

watch be Ra. x

Actual C.P, of watch

= 110%h of 500
SO0 x !_]_El_

" [ 100

According to the gquestion,

75 850120

X700 ™~ 100

= X = R, 400

]-E'_mEE'D

- =

. 12) Prafit on outlay = Rs. 6000

According to the question.

25% of outlay = Rs. 8000

SO0 2 100
25

i GNIH&F = .

= Ra. Z4000
Again, Il the advertised price
be Bs. x then

&0
%% Jon = Ra. (24000 + 6000)

0000 3 100

&0
= Rs. AT500
BlA:B=5:4=45:36
B:C=9:10=38:40
AATB:Cedb: 36 40
Sum of the terms of ratio
=45 + 35 + 40 = 121

= K=

s Cashare = Rs, 'rinruun]

klil
= Rs. 800
[2) I 49 kg, of mixture,

(5.
Tea of Assarm ﬂ[%na} kg.

= 8 kg_

Tea of Darjeeling = (45 - 35) ke,
= 14 hi}

Let x kg. of Darjeeling tea he
added.

a5 . 2
144 x 1
= 28 +2x=35

i 2t=-35-23:|?

T
= Xa E -ﬂ.ﬁkg,
33, [4) Succeasalil students

=%J-:13’E#|m

Unsuccesaful students

2
ﬁxlﬂz-m

When 4 more studen
ceed, e
Reguired ratio
= [LOE + 4} : [24 - 4)
w112:20=28:5

34, (3) Belfore battle,
Offcers = Jx
Soldbers = 3lx
According Lo the question,
After battle,

dx -8 1

3lx-22 " 13
= 39x= TH = J]x=22
= J9x=-Jlxw TH-22
ws Bx = 56

=

B4
= X= 'E;' =7

. Regquired number of ofie
ers e x 7T =2l

28, [3) Let the volumes of thre
containers be 3 litres, 4 liirs
and 5§ Hires respectively.
Container-]

¥

. -1:::3___
Milk = o

lizres.

Waler = % litre

Contalner-11

4x3 |

ME]J!:T:S“U’C&

Water = 1 lire
Contalner-II
526 _ % lires

T 7

Milk =

i)
Water = = litres |

[
+ Required ratio in &0 |
er-T¥

S

Iv.

249, |




-

Wm? '——_\%l WWT
- 12 - . S0 s
e+ =|:|= 10
=[E+ +7]'[5+1"‘?] =Rs.-2:;—x Nmpﬂm‘m%’ipﬂ-dm
[M] -[31_*“_3:.51*_52] # Soham : Mukesh : Pankaj According to the question:
F as 3 35 2y
=x:2x;— — 162 162
314 106 g =3:6:2 B 2
-3 " 35 Sum of the terms of ratio 4
= 157:53 =3+6+2=11 yiih il2
! e—=2
g6. (2) By the Tule of alligation, % Amount with Mukesh = =5 o
=m.(151x33n] _ 28 182 _,
varim;-I Variety-II = Rs. 180 x x
Rs. 1 Rs. 7 32. (3) Average daily salary . E:g
\ Men = Rs. x (let). x
= 2x=54

/ RB.E\\

g-7=1 12-8=4

s~ Requiredratio=1:4
27, (2) Total number of customers
in 15 movie theatres

= 15 x 600 = 2000

4 Required average number of
o0
customers = g = 1000

28. (1) B's weight = (A + B)'s weight
+ (B + C)s weight — (A + B +
C)'s welght

=[40 %2 +2 x 43 - 45 x 3) kg,
= (B0 + 86 - 135) kg.

=31 kg.

{4) Let the highest score of
cricketer be xruns.

~» His lowest score

= [x- 172) runs

According to the question,
38x 48 + x+ x- 172=40%x 50
= 1824- 172 + 2x=2000

= 1652 + 2x= 2000

= 2x=2000- 1652 = 348

. (4) Let the C.P. of article be

. (2) Let B's profit be Rs. x.

Women = Rs. (x— 10)
Boys = Rs. (x- 20)
According to the question,

Tx+ 11 (x- 10) + 2 (- 20)
= 20 % 257.5

= Tx+ 1lx- 110+ 2x- 40
= 5150

= 20x- 150 = 5150

= 20x = 5150 + 150 = 5300

= — = Rs. 265
RET TN o

Rs. x

According to the question,
425 - x = x— 355

= 2x =435+ 355 =780

780
= Xm= -—2— = Rs. 390

- A's profit = Rs. (1650 — 0
According to the question, |
1650-x 2x

8 B
= Bx= 1850 x 5 - Bx
=4 Bx + Hx = 8250

= x= Rs. 27 per dozen
a7. (1) C.P. of first painting

20000 = 100
re 125
= Rs. 16000
C.P. of second palnting
00001100 _ ., 35566.7
Loss = Rs. (16000 + 26666.7 -
40000)
= Rs. 2666.7
38, (2) Let C.P. of 1 kg. of rice be
Bs. 100.
According to the question,
.- S.P. of 700 gm. of rice
=Rs, 110
- S.P. of 1000 gm. of rice
110 H
=200 = 1000
1100 3
T Rs. 157 =

~ Profit per cent = 5?%%
390. (2) Required per cent

-, Y
= 2axeo *100=2.083

40. [3]i.ct the business man's
present earning be Rs. x.

According to the question,

125 96 125 a5 125

** 100 * 100 * 100 * 100 * Too
= 72000

T, 348 ok =p llx—BEﬁl’J
. = XK= iﬂiﬂ_ = Rs. 750
30. (2) Average of 7 consecutive 11
numbers = 20 35. (3) C.P. of article = Rs. x (let)
+ Fourth number = 20 lis S.P. = Rs. y
~ Largest number =20 +3
e o B iR
31, (3) Amount with Soham S XX 700 - 100
= Rs. x (let).
% Amount with Mukesh x 4
IH&. 2.\: = y = 5
100x | se. (3)Initial price of eggds = Rs. x
Amount with Pankaj = Jzg :m Y
= STNE-769 —
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ﬁ,mm

,,,’% = 72000

T2000 %5
qxs—-g'—"'—-ﬂmm

{3) Percentage of students who
pass in one or two or both sub-
Jects =73 + 70 - 64 = 78%

& Unsuccesaful students

= 100-79=2]1%

If the total number of examin-
ees be x, then

21% ol x = 6300

41.

21
= X% 100 = 8300
6300 %100

= Xx= 21 = 30000
42. (2) Let man's income be Rs.
100,

" Expenditure = Rs, 75
Savings = Rs. 25
Case-II,

Man's income = Rs, 120

E itumn:[?sx”ﬂ]

100
=Rs. 82.5
Savings = 120-82.5 = Rs. 375
. Percentage increase
. [3?15- 25

25 ]xlﬂﬂ

12.5
25 lelm

+ 4] Let PQ = QR = 2z km,

Let speed of boat in still water

be x kmph. and speed of cur-

rent be y kmph,

According to the question,

z z

x+y Vxoy

2z 40

H.I'Id__—'-,_-, —
x-y 165{]

w2 62 .80

x-y =183 =7%
By equation () x 3 _ g,

=12 e ()

.-ﬂﬂ

2z D 2z
x-l-y _‘.:_.y_'x__y
50
#2 ——
4 3
2 7m-so

TR g

(3) Distance covered by car
=492 % 10 = 420 km.
New time = 7 hours
420
. Required speed = ——

=80 lﬂ'l'l.ph.
. Required increase
= [60 - 42) kmph
= 18 kmph
(1) Let speed of train be x
kmph.
Speed of car = y kmph.
Case I,
Distance

Speed

240 210 40
R + y = B—— =8

240 210
="+ =
x y

Case II,

180 270
_—mm—

X y
By equation (i) x 3 -

o Time =

o
Wk

=8
= . )

&

(1) = 4,

= U =45 kmph,
(2) Let the speed of trai
X kmph, e
+ Relative speed of B
= (100 - x) kmph.
-+ Time taken in Crossing
th of both traing
Relative speed
150 + 250
o 1000
100- »

=3 = _'-————2
30 ~ 5(100- %)

i
60
)

47. (2) Amount
= Rs, (30000 + 4347)

= Rs, 34347
R T
= 34347 = 30000 [1+._?_.]
100
3434? [m?)"
—
11449 [1&?}“
=

[“""] il
100 IDG}

= n=2 years
48. (1) Let amounts be equal in 7
years,
SI=PnndpaIx11:nexRal¢
LR T lm
p+P:<x>cT
100
-« QxExT
9+ oo
PxT Q T
= Too Q-2
Px—QE
=}T( lm ]:Q-P
Q-pP
=>T-1EID( ]
x=Qy

T
49. 2)A=p (1 +-E_]
100

B 2
2420=P[1+——] )
100

3
and, 2662 = p [1+_F‘_.]
100

- (1)
By equation (if) + (1)
2662 R
2420 = ! * 750
R 2662
100 = 24320 ~ !
2662- 2420
2420

=

B1.

P i B M i ol it

/.
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where R =4 cm; 1 = 3 em.

2z
= — (42 - 3%) = 20

B

=S x4+3)4-3)x20

B

= = %7 % 20 = 440 cu. em.

B2. (3) Let the length of rectangu-
lar box be 1 om.
Width = b em.

Height = h cm.
According to the question,
b= 12 sq, crm.

bh= 15 sq. cm,

hi= 20 nq. cm.

On mulbplying,
Bxblxhl=12x15x20
S Volume of box

BB. (1)

Arca of rectangular park
= 60 x 40 = 2400 sq. metre
Let the width of cross-road be
X meire.
=~ Area of crogs-roads
= B0x + 40x— »*
= 100x = 22
According to the question,
lmx_.. =24[H]-—-21|35
= 1::},1:—13-231
= 32— 100x+281 =0
= 2 -Gx-07x+281 =0
= x(x-3)-97 [x- 3] =0
= [x-3) (x=-97)=0
= x=3 because x= 97

gOINED PAPER-47
i
= B = 10% per annum.
From equation (i), Faadicliedd 87. (1)
10 = 3600 = B0 cu. cm.
gqﬂﬂrP(HﬁE B3. [3) Distance covered by man in
B minutes
11y 12x1000%8
= 2420 = F[ﬁ] ] [T—] metre;
121 = 1600 meire = Perimeter of , 140
= 2420=Px — park . each circle = ~5
100 Length of park = 3 metre (let} Radius of 2
2420 = 100 Width = Zx metre = 70 cm.
ﬂ?l—“"‘-"'lzl 59 (8x+ 2x = 1600 mﬂrm:ﬁ;urmturﬂ = Are
= Rs. 2000 1600 22
50. (1] According to the question, | = 9= —F5— =800 - x 70 % 70
5.1. for 2 years 6 months 800 = 18400 sq. cM.
= Rs. [5500 - 4000) = X8~ = 160 muf:!qugfiﬂ -
5 = (140 x 140) sq. &l-
= - & Area of = o ¢ Doe w B
#E-l-fmﬁ'zﬁ'm H-L Iﬁm -E“"Iﬁlr;: FlEﬁWﬂ*m*
1500 % 2 = 153800 sq. metre Hﬂqumﬁﬁﬂﬂ] sq. I
= a1, for I.}"W:_Em Bd. Id‘.Eﬂmﬂmpemmm -t:mcf'q_;n i
sﬂﬂﬂ & "
= Rs. GO0 N B8. (4) Radius of the base of cylin-
s .1 for 2 years = Rs. 1‘2?:; " {x"' b [m]“ drical pillar = r metre (let)
& Principal = Rs. (4000 - 1200) T - 2mr=8.8
= Ra. 2800 - [—ﬂ-ﬁ-ﬁ-iﬂ-——la-un— % 22
s 1% 100 =_E'EH% ﬂﬂx?:ﬂ!ruﬁ1ﬂ
- Rate = Pricipal = Time Negative sign shows decrease. BBxT =2
1200 = 100 150 6. {1}"-'hlum:u!'rmmradnm1:ﬂ- = re T 1.4 metre.
=T2m00x2 = 7 _ P Again,
- al = n?h - grrth= 3 wlh anrh = 17.6
=21=% BT, m BAx h=17.6
bl =[E“EKD.E}:D.EHIA]W.M‘I. 17.6
1. (2) Velume of used tron 3 7 = h= —— = 2 metre
=x(R% - FAh = 1.058 cu. cm. 8.8

» Wolume of concrete = nreéh

-[%2-“1.4x1.4!#2] Cu, TnElre

BO. (4] Volume of bowl = %mﬂ

=—nx8xIx9

3

=486r cu. em. = volume of lig-
wid

Volume of 1 bottle = nR2H

Ji:8 8
=T 2:":2!4

= 9% cu. cm,

% Number of bottles = <267
Bn
=54

=ﬁl STNE-771 I'___'—_————'_____————————____———_________
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0. (4) Volume of water filled by = 2qh= 154 .. R
pipe tn 30 minutes 15¢ BT, RS
o = h= aq. -~ 1o & MNumber of cones
i [—E—*—— cu.cm ~ Volume of cylinder =nrth 8379 Ix4
= 2 x a3 = 54q
= 20000000 cu. cm. 93,9 . T LR
~ Height of water level =7 *37%3 i 2 68. (2) Expression
20000000 5 =269.5 cu. cm. 2xy -
“ 8000x4000 ~ 8 “™ - (3) According to the question, -["xﬂ ]*{ ya“a'u
a1 ) nR2= 160 o o
. = Ri=16
- T {-‘" 1:4- *
= R= 16 =4 cm. ‘-[i:!'%;&]"'[_ylﬁf‘ﬂ‘h]
0 * Required area=n (R + il
=n{4+2)x6 X= )
h = 367 sq. cm. +HJ: +w+w+f_
o = B 64. (2) Radius of first sphere
=2rm11. 3-‘:_";:
& A Radius of second sphere (x-yP?
lagonal of square = 2r cm, = rem, -y s +|_1'F‘!—-2.x_1’t+ﬁ
1 According to the question, i
o ﬂrtau[aquarc=ixl2ﬂ3 4 { 2
in (202 = —n/? x-y)
=2 sq. cm. 3 = xg_l_yg +ix-—y]9a;r?
Al‘ﬂﬂfﬂ.ﬂﬁﬂ:-‘?—ﬁraq. om., =5 lﬁm-?*:%nra‘ 1 1
= 12=r ¥7. () Eﬂ"'b}l:h'ﬁl:} *bre C4
&5 (b+c)e+q)
~ Area of hexagon = ——. 2 - Radius of first sphere 1-
4 = 24 cm. BT
= EJEF L 65, [H'E:ta] volume of jee-cream i
7 =nrh Ct+a+a+b+b+e
. = T
- Required ratio 2142 (a+b)(b+c)c+a)
2/ =W 3] %38 cu. cm,
.2.2;?,.1 2(a+b+c)
=y
e . @b ot
: B8. (1]2 + AL
62. (3) himtmdlusnl'cﬁrhndﬂ-be For a cone of ice-cream, = +gg-|-21-1|:1'.1a—.:i
ram. Wiy Srioyiag
Height = h cm, e % [-"C+11] ol
According to the questy " ; ? EITEERD
AN 231‘1“ on, =gnx [E] * 12 eu. cm, :ﬂx;—l
Again, 2nrh = %Ixﬂﬂl = 154 + W'IU“';E " LSt LE St e
2 (7
o 2 = 23] - 154 = 3" [E) CU. cm, 69. (2) x= J5 +1
22 N
=2 2x-= 2o Tﬂm“ﬂ]um'cﬂfcﬂne-
- shaped
T lce cream pe (E+1}2
=i Ll n (49 343 =
o — = | — 5=~
23x2 * I3 3 [4 x12+T] 3 om. [RE:"- 1{V5 +1)
.7 tonalising the denomine:
TS g e =3 [14?+i“ﬁ) i, tor)
“ 2nrh=154 e Ml L G _5+1+2/5 64245
22 7 o +343 R T AN
= Ix— X xh= - [ J
1 3 CU. &m,
T a3 54 4 tm % 3+45
2
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mm—‘?

R 80

B-1 3-8 = Jahuy + 2beys + Zace ab-"'"u:
= = o?f - 2abxy + b2 4 o2 + b
Vo541~ 2 &a? - 2acxz + P22 + AP - ;.;w:’ lﬁ;*"“““b
o 2beyz = 0 = 4x10=
x+y= ;IE 3,;5 urlnu—ﬂbudnﬂﬂ-ln-r-r-ﬂnﬂh‘q‘g _4_9.;4.-t’:-«a"__.""5"-IIr
i -+ - 1
A -JEEE- . . (Ma+7g =-2

R a+.J5 r 3-45
A 2
§-5

l=—_-]

4

2 eayey® {.\'+y}’—

oty T (xey) -0y
@-1 8-1 8 _4
"@Ef-3"8-8"86.13
1 2
70. (3] [x—;] =3
i
-::F-r:f-ﬂ-ﬂ
-.tﬂ+'?1f_ = 5
On cubing bath sides,

( "'-IE']E _ 5

s B4 —5 +3[x=+;5] 125

=&xﬂ'+x'1'+ﬂnﬁ=125

=3 .t“+':?l‘|!35—15-ll!}
71 (3) [a+ b+ d?

=gt & B+ = + 2ab + 2ac + 2bc

s 2 e+ a2
=x% 432494+ 227 + 6+ B
=4+ 208+ Tod + Bx+ 9
On comparing with 2* + 229 +
ax + e+ 9
= '?.b:E

T2, (3) (ax+ by + 22
=+ e B 02+ P+
= 00
= @' + PP + 222 + 2ahay
+ Zhoyz + 2acxz
= a2 + AP + a2 + P2 +
it + P22 + 23 + 2P + 22

= a'? + a?2? + Bad + P22 4
2 4 P

a
-uy—hx-ﬂ-nqy-hxqi =

a
n:—:‘.t:ﬂ::-n.l'lﬁ;-b;:

was=keibelige=kx
H s+ t=18
=R+t =16
=:|-I|F:-|:ﬂ.'5-|l.ﬁ

|=|-.L-"— =

5 = ll.‘li

a+h+c i

T XY+ E =k=g

73. (2] Of the given
xm=lo2+ B+

x4+ ad+2c?

b+e

—I:I. b=t ra? + 27
bB+e

2_p?
&
g —— -h
b+e e
x+b* +2a°
c+a
_a® b2 - c? - b? + 203

c+i

a?-c?
=
cC+0a

==

x+c® 4267
a+h

-a?-b% - et 4 22
B a+h
b -a*
= a+b
s e=b+a-c+h-a=D
74. ) 2-P=11T:a-b=13
= (a- b (a® + I* + ab) = 117
= H-xl_nﬂ+h3+nh]q 117
117
= n’+b‘+nb--5— =38
= [a- b2+ 3ab=239
= 32 + 3ab=139
= Aab=39-9=230

=b=a

T8. (2] A

= :[ﬂ'l-.l.:-ﬂﬂ

= @@+2a+1=0
= (a+ 1P =0

= a+1=0

= a=-—1

o (a)1992 4 (ar 7
= 1)1000 & (11000
=1+ 1 =2

. [2) AABC ~ ADEF

Area of AABC _ BC?
* "Area of ADEF  EF>
8 (21

=18 T (mR)”
323

=L Er
4x2.1
- 3

= 2.8 cm.

VAV

0A = OB = AB
& AO0AB is an equilateral tri-
angle.
& LADH = 807
1]
i
Angle subtended at the centre

by an arc is twice to that at
the circumference,

& LACH =

]

=—‘=————-_-———-=—-——_| ETHNE-T73 =——_______________________




B I e —.

AX = AY = tangents from an
exterior point . ‘
ZAX0 = ZAYO = 80°

+ AX=XB;AY =YC

1
s XY || BC and = 7BC

79. (2)

B D c

24
.HB-BCECH.H‘E‘I"EEETE

BD=DC =4 em.: AD | BC
In AABD,

lﬁnﬂi"'ﬁai_.ﬂnﬂ -Jﬂn_l‘ﬂ
=JB4-16 = Ja8 =43 cm.

2 2
& AG-EAD-:E::-%JE

8
= E Cm.
BO. (4)
P

PO =

(AB)? - (1, - ry)?

= Jua}”- (11-6)°

= Jieo-25
81. (2]

= Jldqd =12 cm.

A

AD | BC
BD=DC= 12 cm,

OC=0a= Cireum-radius
=rem.

AD =

AB?_ pp?

Xm

-J{ z{E] - (12
= 144 x5-144

= J144(5~1) = [l44 x4

=24 cm.

In ADCD,

OD=(24-1 cm.

s 0C2 = OD? 4+ CD?

= P=(24-r+ 123

= P =b576-48r+ P+ 144
= 48r= 720

= rs=——= 15 em.

48

(1) A

B P c

Tangents drawn on a circle
from an exterior point are
equal.

AQ = AR

+ AB = AC

s BQ=RC

Again, BQ = BP: CP = CR

* BP=PC

B3. (4) A

=

DEIIEEandnEq-é-nc

Area of AABC g2
" Areaof AADE = ppz =4

" mﬂfMDE E.li." xmﬂr
AARC

84. [*) A

c

S

AB = AC = 5 em. (We have g
sumed to reach answer)
AD 1 BC

BD-DC-EM-.

AB? - BD?
-1#59_3'1 =J§5—‘—=\ﬁi

=4 cm.

Let, OA =0C = rem,
D=({4-1cm.

In AOCD,

0C? = 0D? + DC2

=P =(4~724+32

= rP=16+r2-8rs+9

= Br=25=r= %E =3.125

(2) A

A, |

C}
In AAAC and ABB c

_ Aa AC
“ BB, =B Be e [

In AACC, and AABB,,

BB, |]cc,=;mml ~ AABB,
cC,  Ac

+ BE.1 = AB,

.. - AB, _AC-BC
c AC AC

Areg of BCED

; = D cc ~ AC

=3 *Area of AABC op oy ARy

* Required ratig = 1 . bt R T
-_%____‘_'_—_-_____ﬂ —

}




SOINED PAPER-47

%' SOLVED PAPER-47
BB BB
“E_E:L"“_i‘l 1 CD = 10v metre
1 A, 25&1‘.‘3::114.; BD = vt metre
1 1 1 H In AABC,
=’ECI+M1=BB‘ ﬁm:% t.un45‘-‘-ﬁﬂ
86. (4) (1 + sec 22° 4 3 BC
cosec 22° + tan Ea?]t 0 By equation (1) - ), :
={1+H-EE22°+I&1122°]1_~ 2 1 = ] =——
cosec 22° + cot 229) : . m=m =BC-EE
e tﬂIl - = -
!_a}= tLT;[ v LS TN | i = (10v+ vl metre ....{1)
2m In AABD,
! Hnﬂu
=1+ — AB
[ cos22° +m22°] S 8inB = H tan 60° = BD
1 cog 29° 2 h
T e -1 e .2
[ 8in22° ainﬂz'*] =-"-'2—m—-x;=25+_1,%::_ = J3 =7
[ma22°+1+ sin22° 89. (2) (a2 - b?) sind + 2ab cosd = h=J3uvt
i cos 22° = [@® + 1) = 10v+vt= J3ut
On dividin Cost,
[slniﬂ“—Hmsz:!‘] (a® - b?) tai:{ 2ab= (a2 + 1) = 10=/3t-1
sin22° sect) = 10=t(+3- 1)
On
- (cos2T'48ln 32 o 22'+ coa22"- 1) (a? : ibl;]a;it!;ﬁ'-t"uﬂih::gg '+ dab 10
&ln22*.cos22* (62— b?) tand = f= o1
_ (sin22°4cos229)% = [a? + b?)? sec?p
" sin22°. cos 22" = (a®- b2 tan% + 4ab (a? - 1(/3+1)  1o(yE+1)
) b?) tanp + 4a2p2 -{JE-I:{JE+1]=
_ 8in® 22% cos® 22°4261n 22° . cos 22°-1 = (a® + b?2 (1 + tan2e) =

&in22". cos232*
1-1+2sin22°. cos 22°
d s8in 22°.cos 22°
87. (1) . xsinf — y cosh =0
= x38inf = y cosd
s x8in8 + y cos?p
= sind , cosd
= y cosf . sin?0 + y cos0
= sinf. cosd
= y cosh (sin0 + cos?0)
= sinf . cosh
= Y cosd = sinf . cosd
= Y = s5infd
From equation (i),
xsind = sinb . cosh
= x=cosb
a2+ 2 = cos2 + sin20 =1
88. (2)secO + tan6 = m. (Given)
. 11}
v+ sec?d - tan?p = 1
= (sech + tand) (secH — tand)

-
-

sezim [1]

1

=+ sech - tand = E s ()

By equations (1) + (t),

= (a? + b?)? tan? - (o2 - p2)2
tan?8 4ab (a® - b3 tand + (a?
+ bai-‘iﬂﬂhznﬂ

= tan?0 {(a? + b2 - (g2 - b2
- 4ab (a? - b%) tanf + (a2 - b2
=0

= 4a’b? tan? - 4ab (a? - b?)
tand + (@® - B2 =0

= {2abtanf - (a® - )P =0
= 2abtand - (a® - b)) =0

2 -]
a“-b
= tanf = Zab
(3) A
60"
60" 457
B D C

AB = height of hill = h metre
Let speed of vehicle be v me-
tre/minute.

Time taken to reach B from D
= [ minutes

S

STNE-T75

=5(1.732 + 1) =5 x 2.732
= 13.66 minutes
-= 13 minutes 40 seconds
81. (4) 2y cosl = x sind
2xsecH - ycosech =3

= 9,2ycosd sech - y cosecd
sin®
=3

= 4y cosecH - y cosecli =3
= dycoscchi=3

(1)

3
= U= Foosec = sin6

From equation (1,
2 sind | cosf = X sing
= x=2pcos=0

noa2 +adye=4
=4 [CDSEB!F-‘- .'Jingg;iﬂ; inla




— | sovmmm,,

SOIVED PAPER-47
AB = Height of cliff = 100 me- u 10v+ it '+
p = tana = = - ‘EN-T
CD = Height of tower = h me- = Jt=10+1¢
tre. = Ne y T H] == ﬂl'iﬂ
ZADE = 45°, ZACB = 60° tana = t= 5 minutes
In Mm. - InMﬂD| t_ﬂ R
colf + cosec B-]
tauEﬂ"=% tmm:% 8. 17 coto—coseco+1
[wrhavctakm{mtﬂ-mm“
100 h+y mat:adul'lmtl}+mamﬂ+|]
= J28 =jo = tanfl = = as denominator)
it K _ cotB+cosec B—{ms:czﬁ-uxln}
= BC = 7z~ metre veee (1) = Xm -Jtanl!t wenne () cotf-cosecB+1
In AADE, Rty (cot 8 + cosec 0) — (cosec @ +cotg)
mﬁ':% tana © tanp (cosec B - cot f)
= ytan p = htana + y tana cot-cosecO+1
—_— AE _ 100-h = y tanf - y tane = h tano _ [cot8 + cosec 81 - cosee 8.+ cotg)
BC BC = y (tanf - tana) = h tana - cot -cosecB+1
= BC=100-h ¥ htano = colf + cosechH
100 = Y7 tanp-tana _cos® 1
% J3 =100-h = sind ' sind
s 04. [”A E cosi + 1
- h“lm“jﬁ' sin @
6. (2) Expenditure on clothes
lﬂﬂﬁ—lﬂﬂ = Rs, B25
ET + 36° = Rs, 825
., 825
| b
100(y3-1) 10043(3-1) 60° Hf e
i \ : - = = Rs. 8250
3 97. (1) Correspondin e for
P E
Let speed of boat savings = H4°
+ o 360° = 100%%

= ——IGQ{E- JEJ meire
3

Pla
¢ D

Let height of tower = BC
= Iy metre

AB = height of flag-stafl
= h metre

ZBDC =a; ZADC =
Let, CD = x metre

In ABCD,

BC
ana = on

= v melre,/minute

Time taken to reach B from D
= [ minutes

ZACE = 30%; £ADB = 60°

AB =Tower

In AABC,

tanﬂﬂnﬁc

1 AB
= :E = vt + 10w

vt + 10w
Ab="08

In AABD,

==

AB
60> o5

ADB
= 3=

= Jjut=AB

100
E a = = %
X EﬂlﬂEEExﬁd 15

88. (3) Required ratio = 108: 72

=3:2

89, (1) Total expenditure

= Rs, 8250
Expenditure on clothes and

_ B250x(36% 90%)
rent = 360°
8250 x126
= ————— = Rs. 2887.5
30 T
s Average expenditure
_ 2887.5 _ Rs. 1443.75

100. (4) Required ratio

108+36+72 54+%0
N = e S




